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Math 118 - Dr. Miller - Exam #2 - 3/26/14

1. (a) [2 pts/ In the first grid, circle all possible points €' that would make /ABC a right
angle.
(b) [2 pts/ In the second grid, circle all possible points R that would make /PQR a
straight angle,

(¢} /2 pts] In the third grid, circle all possible points Z that would make /Y XZ an
obtuse angle.

2. [2 pts] Use your protractor to draw an angle measuring 214°. Clearly indicate your .
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. [8 pts/ How many different diagonals does a 160-gon have? Verbally explain as thor-
oughly as possible the mathematical reasoning for why this is true. (If you use a
formula, you must explain the mathematics that makes it the correct formula to use;

do not simply explain HOW to use it.) RS
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4. [6 pts/ In a certain heptagon, all of the interior angle measurements are equal except
for one angle, which is five times as big as any of the others. What is the measurement

of each small angle, to the nearest tenth? Show clear work.
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5. 8 pts| A convex polygon has an interior angle total that is more than 50,000°, What
is the SMALLEST value that the total could equal? Justify your answer.
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6. /8 pts/ Find the measurement of the non-reflex angle formed by the hands of a working #1y
clock at 9:14. Round to the nearest tenth if needed; show clear work.
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7. [8 pts] In the diagram, j [| £, m(/1) = 50°, and m(/2) = 100°. Find m(/3) and m(z4),
justifying each with a short explanation. You should label and discuss additional angles
if needed.

8. [20 pts - 2-4 each] Draw clear examples of the following; IF NOT POSSIBLE, say so.
When relevant, mark your examples to clearly show:

+ Congruent sides or angles marked the same; non-congruent ones marked differently.
- Right angles marked —; acute angles labeled < 90°; obtuse angles marked > 90°.

+ Parallel sides marked with matching arrows.

(a) a curve that is not simple but is closed (no markings required)
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(b) a concave pentagon (label the sides with “1,”> “2,” etc.)
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(c) an Eqmlatelal polygon that is not eqmanguial mark as in instructions)
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(d) a right triangle that is isosceles (mail{ as in instructions)
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(e) an equilateral triangle that is obtuse (mark as in instructions)
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(f) a kite that is not a rhombus (mark as in instructions)
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(g) a square that is not a parallelogram (mark as in instructions)
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z 9. [10 pts - 2 each) Re;é‘; to the diagram below to fill in each blank with the correctly

spelled term being illustrated,
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" (a) {BCF and LACD are a pair of angles. @Q:%“{@
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; g\;&g& (b) /"1—'.] ’ 5-& y and BT) are ﬁ_ll(-)S.
VERTEX
(¢) C is the of /ACD.
KT
(d) LEFJ appears to be a(n) AC angle.
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(e) AJ and CG appear to be lines.

10. [14 pis - 2 each Fill in each blank with the correctly spelled term that is bein,

DODE . NGON

is a polygon having twelve sides,

(a) A(n)

(b} A(n) LINE is a set of points extending infinitely
in two opposite directions.
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congruent halves.

SUPPLEMENTARY

(d} angles are (two) angles whose measure-
ments total 180°.

e g (e) A(n) T\) A\{ is made up of 1 point on a line to-
%5- gether with all points to one side of it (on the line).
04 CTANGLE
(f} A(n) RECT AN
angles congruent.

T RAPEFZOID
(8) An) TRAVE

one pair of parallel sides,

is a ray that divides an angle into 2

is a 4-sided polygon having all four

is a 4-sided polygon having exactly
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11. Refer to the diagram (extra copies are provided - staple them to your exam). Use

correct notation to write the name of each of the following:
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